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( )1.sputh touch southern cough
( )2.toward grammar dollar regard
( )3.reality head great break
( )4. many heavy any sweat
( )5.busy industry hurry true
( )e6. vill;_lge perhaps wall banana
IL 8iC: (3t 24 43, /NI 1 53)
A) FRIBTA BN R, AT & ST T A

& ,fiﬁxﬁﬁliﬂiﬁo (4 47)

7. disc ge A ouri B.ora C. ouna D.arn
8. memo 1 A.1ia B. ne C.era D. rio
9. pro on A.sess  B.cess C. ces D cet
10. magn cent A.ife B. efe C.efi

B)MA.B.C. Dlm/\uirﬁ%itﬂjnﬁﬁiﬁﬁ%ﬁﬂ%ﬁﬁ%%%%
EBER, @?ﬁ%w\b‘i‘c%K”iﬁgﬁiT?Eo (10 43)

11. At last he passed the exam.

A. First B. Soon C. At least D. Finally
12. There is hardly any difference between the two maps.

A. almost no B. not any C. much D. some
13. Before long he returned from Canada.

A. Quite fast B. Very quickly

C. Quite quick D. Rather rapidly
14. Marx found it important to learn Russian.

A. meant B. said C. wished D. fele

15. Who among you can translate this sentence into German?
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: A. speak B. show C.leam D. turn
. 16. He didn’t attend the meeting because of his illness.
s A. because B. since C. owing to D. as
17. 1 can’t grasp what you said. B
A. accept B. agree to C. receive D. understand
18. When he heard the news, he went back in no time.
A. right away B. not long ago
C. some time later 'D. in a long tlme
19. The doctor said, “Stay in bed and take it easy.
A. rest B. it is an easy thing
C. it is easy to do D. be worried about it
20. He was forced to go back.
A. must B. decided C. ought D. had
C) f£ A.B. C. D WMERS, Bl W LUEA S QAR IEH A
o (1047) .
21. Their was about money.
A. quarel B. quarell C. quarrel D. quaiell
22. I know you are not to the they reached.
A. agree; agreement B. agreeable; agreement
C. agreeable; agree D. agreement; agreeable
23. How . he is! He is always acting .Heisreallya
A. fool; foolish; foolishly B. foolish; foolishly; fool
C. foolishly; fool; foolish D. foohsh fool foolishly
24. “He showed his to join the army. ~means He was to
become a soldier of the army.
A. eager; eagerly B. eagerly; eager
C. eager; eagerness D. eagerness; eager
25. He was an in the government _
A. office; offical B. offical; oﬁice
C. officer; office D. official; officer
26. She 1is . Somebody says that she is a
A. beauty; beautiful B. beautifully; beauty
C. beautiful; beauty D. beautify; beautifully
27. Be ! You should take of the state property (I
7). |
A. careful; care B. careness; careful
C. carefull; careful D. carelessness; careless

28. Because of his , we all though he was an man.
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A. honour; honest B. honourable; honesty :
C. honest; honesty D. honesty; honest
29. The sentence 1s not
A. grammar B. grammatical
C. grammatically D. grammaticize
30. Studying English is of great .
A. importance B. important  C. importantness  D. import

1. B3RS (3L 30 40, B/ME 1 4))
M A.B.C.DWAEIH R ERE—,

31. Usually we got home at three. But yesterday we came home later than

usual because school was over at o'clock vesterdav. .
A. three B. three thirty
C. half past two D. twenty to four
32. Tell me she will be back, in ten days or a week?
A. how long B. how much time
C. how soon D. how often
33.1 you to go.
A. want B. hope C. make D. let
34. A thief broke in .
A, at night B. during the night
C. at the night D. during night
35. They are talking about the place and the people they
visited last year.
A. which B. where C. whom D. that
36. Let’s discuss only such questions we are interested in.
A. what B. as C. which D. that
37. of the apples are left. They have eaten them all.
A. Both B. All C. None D. Neither
38. Until now he is the only one of the students who to take
part in the meeting,. ’ '
A. has invited B. has been invited.
C. have invited D. have been invited
39. He was made of the meeting.
A. chairman B. a director C. a manager D. the president
40. Englishmen like beer.
A. Most the B. Most C.Most of  D. The most
41. : knows about it.

A. Nobody of us  B. Nobody  C. None of us D. No body
42. This film is .




# * % o 8

W

* & & 9

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.
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A. more good than bad B. better than bad
C. more good than that one D. better than bad film
Please give me you have on the subject.
A. what book B. whatever book
C. what books D. as many books
This building by the end of last year.
A. must have completed B. must be completed
C. must have been completed D. must complete
Are you used to with the light on?
A. sleeping B. sleep C. slept D. be sleeping
I think Jack had a meeting yesterday, ?
A. didnt 1 B. didn’t Jack C. didnt he D.did 1
We never go to school .
A. in Sundays B. in Sunday C. at Sundays D. on Sunday
What's this old man? He’s .
A. tall B. John C. John’s father D. a teacher
He is about to go . '
A. tomorrow B. soon C. next weck D. now
My teacher and former (LARIH) school friend ‘come here.
A. has B. have C. had had D. have had
will go to England next year.
A. His father, who is a scientist B. His father who is a scientist
C. His father that is a scientist D. His father, that is a scientist
While you read, you should make a mark you have a
question.
A. which B. that C. there D. where
George said, “Peter may have written to Mary. "This sentence means

that .
A. George knew that Peter had written
B. George mean that Peter had not written
C. George wasn’t sure whether Peter had written or not
D. George said that Peter could write if he wanted
Bob had better go before it gets dark. This sentence means that

A.it’s dark now, Bob ought to have gone before

B. it’s better for Bob to leave in the darkness

C. Bob had left before it got dark D. Bob should go before it is dark
Before making the last decision, he in his mind.
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+ A. turned the matter over B. turned the problem around
C. considered the matter D. thought well of the problem
56. This work is so complicated (& Z%fJ) that it is as you
think.
A. almost not so easy B. hardly so easily
C. not nearly so easy D. nothing so easily
57. It is said was the biggest ship at that time.
A. that which  B. which which C. that what D. that that
58. A number of scientists that the number of wild animals
getting smaller and snialler.
A say; are B. say;is
C. says; have been D. say; were
59. —Is Mr Smith in the office?
—No, he is absent ‘the office.
Al at B. from C. for , D.in
60. It’s about walk from here to the theatre.
A. two hour’s B. two hours
C. two-hour D. a two-hour

IV. SIERE: (3t 20 47)

A) BMEFENASHER, WRFANEORIUER, E1E
@ﬁﬁ%%gﬂ}ﬂ% A, DQEHE B, DAQEHE C, DOODLIEH
5D, (541)

( )61. The experiment will only failure.

D resultin @ bring about €y lead to @ cause

( )62. A feather and a stone ‘will fall to the ground at the same time

(D unless air holds them back (D) if air doesn’t hold them back
@ even though air holds them back
@ no matter how air holds them back

( )63.1 asked him it was true. :

(D whether @if (3 that @ what
( )64. There a tower at the top of the hill.

D is @ was @ stands @ lives
{  )65. She will her teacher tomorrow.

@ visit @ pay a visit to 3 call on @ call at

B) R Rk, F B X A A DU B, sk ik
5 Em A)BHR. (5 7)
( )66. Mary: How long had you been studying before you gave up?
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Helen:
(L Before 1 gavc up I had been studying for five years
@ I don’t remember clearly’ 3 Five years

(4) T had given up for five years already
( )67. John: Don’t you like to eat American food?
George:
(D No, I prefer to have noodles in a Chinese restaurant
@ No, American food is not really to my taste
@ No, because American food is very expensive
@ No, I like very much to eat American food
( )68. Teacher: Why didn’t you hand in the paper yesterday?
Student:
(D Because I had not ﬁmshed writing the paper
@ I thought I was supposed to hand it in today
@ I must apologize
@ Please forglve(ﬁfg %) me for it. [ promlse(ltf:u’i to hand in my
next paper in time
( )69. X: My father is not at home right now.
Y: ?
D Could you tell me when he will get home
@ May 1 leave a message with you
@ May I take this message for him
@ Don'’t you remember I called
( )70. X: Please tell me some of your working experience.
Y: Frankly (HZ#bi% ), I have never worked befrore. I've been
unemployed (%) since 1 graduated.
X:I see. The job market is very bad indeed.
Y: 1 sincerely hope I can have the chance to work for your
company. What are these two persons doing?
(D Holding a job interview (& iL).
(2 Discussing their work experiences.
® Discussing the problem of unemployment.
@ Talking about the job market.
C) XB3EE. AT HENBRSRER it — M RESE
%o (104))
71. When you answer the telephone, you find that the caller has dialled
the wrong number. He says that he is very sorry. You reply:
A. Good-bye. B. Not at all.
C. Please don’t do it again.  D. Please be more careful.
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72. Someone asks you if you can tell them the way to the City Hall. You
know the way so you reply: :
A. All write. B. If you like. C. Certainly. D. Never mind.
73. You are on the beach and you want to know the time. You speak to
a stranger, and after saying * Excuse me. ~ you say:
A. What the time? B. May you tell the time, please?
C. I'd like to know the time, thank you.
D. Could you tell me the time, please?
74. Someone asks you politely what time it i1s but you havepn’t a
watch. You say:
A. Sorry. I don’t know. B. I haven’t watch, please.
C. Please ask someone else.  D. I'm afraid not.
75. Someone is watching television and you have to pass between them
and the screen. You say:
A. Excuse me. B. Pardon, please.
C. I'm sorry about it. D. Do you mind?
76. You go into-a shoe-shop to buy some brown shoes, size 9. You say to
the shop assistant:
A. Do you sell shoes?
B. I want some brown shoes, size 9.
C. Please may I have some brown shoes, size 9?
D. May | see some brown shoes, please, size 97
. 77.You are a shop assistand and a customer asks for some brown shoes,
size 9. There are none in the shop so you say:
A. I’'m sorry. We haven’t any. B. Sorry, no more.
C. All sold out. D. Come back later.
78. Dick wants to go to the toilet. He puts up his hand and says to his
teacher, Miss Lee:
A_ [ must go outside, Miss Lee.
B. Please, Miss Lee, may I be excused?
C. Will you please let me go, Miss Lee?
D. I want to go to the toilet please, Miss Lee.
79. Someone asked Tom if he thought it would rain on the next day
when they would be having a picnic. He thought it would so he |

said:
A. Yes, I think it B. I'm afraid so.
C. I'm afraid of it. D. 1 think yes.

80. An uncle asked David if he would like an ice-cream. David sald
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

A. Yes, I like one, please. B. Yes, please.

C. Yes, I like, please. D. May I have it, please?
B (3£ 10 47, 58 /1VEE 1 47)

TEE,&’_JA B.C.D %, H— b B#EIRN, %}ii‘h’%ﬁﬂ‘] 4t

[ spoke loudly in order to make myself hear.

A B C D
Either Xiao Zhang nor his father has to stay home.
A B C D
Physics are his most difficult subject and Bob doesn't'think he will
A B C- D

pass the test. ‘
I think we should look in the matter further before making the last

A B C
decision, don’t you? :
D
Mr John is one of those men who appears to be friendly; however, it
) A B
is very hard to get along well with him. ‘
C D
When Rose returned by abroad, she told me all about her trip.
A B ' C D
Although most of the houses in that area are still in need of repair,
‘ A B
there have been much improvement in their appearance.
C D
If anyone happens to call while I am out of the office, please have
A - B
them leave a message to me.
C D :
Here is picture of John, a good friend of is and I, which was taken at
A B C D

station last summer.
We knew that they would have more trouble getting there on time
A B C
than us.

VL 5% :‘isz 3£ 20 43, B/NE 1 4))
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Before the 20th century the horse provided( 32 fit ) day-to-day
transportation(iéiﬁ) in the United States. Trains were used only for
long-distance transportation.

Today the car is the most popular __ 91 of transportation in all of
the United States. It has completely 92 the horse as a means of
everyday transportation. Americans use their cars for ___93 90 per cent
of all personal _ 94 .

Most Americans are able to __95  cars. The average price of a __
96 made car was $2, 050 in 1950, $2, 740 in 1960 and up to $4, 750

97 1975. During this period American car makers set about ___98
__ their products and work efficiency (3{3%) . As a result, the yearly in-
come (LA ) of the __ 99  family increased from 1950 to 1975 __100
__ than the price of cars. For this reason 101 a new car takes a
smaller __ 102 of a family’s total income today.

In 1951 __103 it took 8. 1 months of a average family’s __ 104
__to buy a new car. In 1962 a new car ___ 105 __ 8. 3 of a family’s year’s
income. By 1975 it only took 4.75 __106  income. In addition(
Ah), the 1975 cars were technically better than the models 107 the
years before, '

The ___108 _ of the cars extends(# &) throughout the economy

109 _ the car is so important to Americans. Americans spend more
money on their cars running than __ 110 any other item.

P e 4 8 8 &8

91. A. kind B. sorts C. mean D. types

92. A. taken B. reproduced C. replaced D. made

93. A. hardly B. nearly C. certainly D. somehow
S4. A. uip B. works C. business D. travel

95. A. buy B. sell C. make D. see

96. A. quickly B. regularly C. rapidly D. recenty
97.A. on B. in C. behind D. about

98. A.raising B. making C. reducing D. improving
99. A. year’s B. interested C. average D. biggest
100. A_ slowest B. equal - C. faster D. less than
101. A. bringing  B. obtain C. buying D. bought
102. A. part B. half C. number D.side .
103. A. clearly B. partly . C. percentage D. suddenly
104. A. income B. work C. plans D. debts
105. A. used B. spent C. cost D. needed
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: 106. A. month’s B. dollar’s C. family D. year

. 107. A. to B. from C. at D. on
108. A. running B. notice C. use D. discussion
109. A. then B. as C.so D. which
110. A.1 B. C. D. to

in at on
VIL %R (3 20 53, /0N 1 43)
152 52 T T VP 6 3, #R U R 4 S B [ 2 4 SO TR R [
(A)
Why do we have in a camera a lens (8k) instead of a simple hole?
The reason can be seen from the ﬁgures(@ﬁ).

P P

Q
FA FB FC

In Figure A, the hole is small. Rays(J3K) of light from a point P
outside reach a very small part of the wall opposite, and we see there a
small point P can cover a larger part of the wall opposite, and we don’t
see a clear point. Rays from other points(Q) outside can also fall on the
same place inside. Therefore the picture is not clear when the hole is big
and it is not bright when the hole is small because very little light can pass
through.-

We can get better results with a lens. If the lens is made in the shape
shown in Figure C, all the rays of light from a point P are thrown on one
point P’s inside. The picture which we see, therefore, is clear; and it is also
bright because more light can pass through a kens than through a small
hole.

111. In Figure A, we can only see a faint small point on the wall because

A. the hole isn’t big enough B. no light can pass through the hole
C. light rays don’t travel in straight lines
D. point P is very small
112. Figure B shown that the bigger the hole is,
A. the more light can pass through
B. the clearer the lines in the picture will be
C. the bigger the picture will be
D. the more pictures we can see
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113.

114

115.

B R AR B e

From Figure C, we can see

A. more light can pass through a small ‘hole

B. the lens can make the picture better and clearer

C. the lens can make light go in straight lines

D. the lens can make the picture neither big nor small
According to the passage, we can conclude that a lens is made of

A. steel B. gold C. stone D. glass
From the passage we know that .
A. the big hole is better than the small one
B. the small hole is better than the big one
C. both the big hole and the small one have their weak points
D. the big hole is as good as the small one
(B)

Dear Mr Harrington,

I saw your name on a list of teachers of French who wish to spend

their holidays in France this summer. I am a teacher of English in
Saint-Simon, a small village in the Loire valley, just south of Saumur. I
should very much like to spend some time in England, because it is many
years since I had a chance to practise my English. Perhaps we could ex-
change houses for three weeks in late July or early August.

[ have heard a lot about a holiday in Cumbria and the Lake District

(Hb[X). I have been eager to spend a holiday in Cumbria ever since I first
saw pictures of the fox-hunting, and read about the fine hunting dogs that
you have in your part of the country. I am very interested in fox-hunting
and I take my dogs out hunting in the local forest whenever I can.

[ shall tell you more about Saint-Simon country-side when you ex-

press interest in my plan. I look forward to hearing from you.

116.

117.

Yours sincerely,
Jean-Baptiste Foucault
Mr Foucault wants to visit England
A. to meet his old school friend Harrington
B. in order to use and improve his English
C. because it is many years since he had a holiday
D. because he wants to go fox-hunting there
Mr Foucault’s plans to
A. spend three weeks in Saint Slmon in the Loire valley
B. stay with Mr Harrington in England so that they can talk English
together
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